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5 E:S = 5 E:S = 5 = Al

& e T 106, 662 125,153 231, 815 28,020 30, 312 58, 332 26.27 24.22 25.16
EIN Bl T 63, 351 76, 361 139, 712 15,071 17,131 32,202 23.79 22.43 23.05
J\ P il 87, 703 98, 098 185, 801 20, 270 20,917 41,187 23. 11 21.32 22.17
=2 A il 12, 647 14, 699 27, 346 3,056 3,310 6, 366 24.16 22.52 23.28
HE R Nl B ™ 20, 249 24, 563 44, 812 4,638 4,731 9, 369 22.90 19. 26 20. 91
+ EN1| H H 23,649 26, 341 49,990} 5, 387 5,379 10, 766 22.78 20. 42 21. 54
= iR T 15, 369 15, 687 31,056 4,269 4,349 8,618 27.78 27.72 27.75
el D ] 22,153 23, 794 45,947 5, 460 5,259 10, 719 24. 65 22.10 23.33
D paN % il 12,235 14,010 26, 245 2,160 1,952 4,112 17.65 13.93 15. 67
E J il 11, 967 13,720 25,687 2,514 2,611 5,125 21.01 19.03 19.95
] =i £t 375, 985 432, 426 808, 411 90, 845 95, 951 186, 796 24.16 22.19 23. 11
E N BT 4,230 4,689 8,919 1,390 1,480 2,870 32. 86 31.56 32.18
5 Al BT 1,004 1,116 2,120] 360 355 715 35.86 31. 81 33.73
E: 3 H 1 1,058 1,176 2,234 185 170 355 17.49 14. 46 15.89
7o r pi=d BT 2,297 2,564 4, 861 718 735 1,453 31.26 28.67 29. 89
H 2 B B 3 8,589 9, 545 18,134 2,653 2,740 5,393 30. 89 28. 71 29. 74
i r R BT 3,704 4,279 7,983 1, 381 1,585 2,966 37.28 37.04 37.15
s b | g 3,101 3,476 6,577 933 2 1, 645 30.09 20. 48 25. 01
moE B A 5 6, 805 7,755 14, 560] 2,314 2,297 4 611 34.00 29. 62 31. 67
] B B 1 504 574 1,078 112 95 207 22.22 16. 55 19. 20
hoE B OB 3 504 574 1,078 112 95 207 22.22 16. 55 19. 20
23 3 HT] 5,724 6, 630 12, 354 1,388 1,448 2,836 24.25 21.84 22.96
X iz HT] 3,554 4,221 1,715 952 1,061 2,013 26.79 25.14 25. 89
H & 8 1 2,993 3, 343 6, 336 817 807 1,624 27.30 24.14 25.63
mOoE B B : 12, 271 14,194 26, 465 3,157 3,316 6,473 25.73 23. 36 24. 46
R 0 BT 5,008 6, 026 11,034 1,292 1,378 2,670 25.80 22.87 24.20
e H g 4,804 5,571 10, 375 1,269 1,343 2,612 26. 42 24. 11 25.18
2] ;A HT] 4,156 4,729 8, 885 565 539 1, 104 13.59 11. 40 12.43
i 2 8 & F 13, 968 16, 326 30, 294 3,126 3,260 6, 386 22.38 19.97 21.08
52 43 ih BT 4,986 5, 682 10, 668 1,287 1,299 2,586 25. 81 22. 86 24.24
+ P BT 5,984 6, 657 12, 641 1,789 1, 864 3,653 29.90 28.00 28.90
VAN 2l BT 4,348 4,550 8,898 1,212 1,262 2,474 27.87 27.74 217.80
& pi=d T 1,872 1,818 3, 690] 528 459 987 28. 21 25.25 26.75
B |4 HT 6, 866 7,348 14,214 2,303 2, 411 4,714 33.54 32. 81 33.16
VAN o T 1 4,568 3,776 8,344 1,377 1,271 2,648 30.14 33.66 31. 74
B L B & H 9,815 10, 628 20, 443 2,526 2,534 5,060 25.74 23.84 24.75
£ it b4l AT 38,439 40, 459 78, 898 11, 022 11,100 22,122 28.67 27.44 28. 04
X ] BT 2,101 2,050 4 151 508 507 1,015 24.18 24.73 24. 45
H & 1 2,630 2,443 5,073 1,072 1,052 2,124 40.76 43.06 41.87
Ji: fil b | S| 731 765 1,496 238 219 457 32.56 28.63 30.55
& H 1 792 766 1,558 381 365 746 48. 11 47.65 47.88
T it A 5 6, 254 6,024 12,278 2,199 2,143 4,342 35.16 35.57 35. 36
= P BT 3,819 4,192 8,011 995 1,005 2,000 26. 05 23.97 24.97
En P BT 6, 725 7, 331 14, 056 1,945 2,095 4,040 28.92 28. 58 28. 74
H + fT] 2,115 2,278 4,393 582 613 1,195 27.52 26. 91 217.20
3] B g 6, 937 7,798 14, 735 1,540 1,624 3, 164 22.20 20. 83 21.47
3 £ HT] 5, 531 5, 564 11, 095 1,375 1, 346 2,721 24. 86 24.19 24.52
3 580 # 976 991 1,967 304 308 612 31.15 31.08 31. 11
= F A B 26,103 28,154 54, 257 6, 741 6, 991 13, 732 25.82 24.83 25. 31
BT #t £t 112, 933 123, 031 235, 964 31,324 31,942 63, 266 27.74 25.96 26. 81
2 5 488,918 555,457 1,044,375 122,169 127, 893 250, 062 24.99 23.02 23. 94
Al B 8B & (R1.6.2) 509, 601 581, 755 1,091, 356 101, 991 105, 983 207,974 20. 01 18.22 19. 06




